

Розв'яжи ускладнені рівняння.

$$(46 + 17) - x = 38$$

$$\underline{\hspace{2cm}} - x = \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}} \quad \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}}$$

Перевірка:

$$(46 + 17) - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$\underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

Відповідь:

$$x = \underline{\hspace{2cm}}$$

$$7 \cdot 9 + x = 91$$

$$\underline{\hspace{2cm}} + x = \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}} \quad \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}}$$

Перевірка:

$$7 \cdot 9 + \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$\underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

Відповідь:

$$x = \underline{\hspace{2cm}}$$

$$32 : 4 - x = 0$$

$$\underline{\hspace{2cm}} - x = \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}} \quad \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}}$$

Перевірка:

$$32 : 4 - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$\underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

Відповідь:

$$x = \underline{\hspace{2cm}}$$

$$x + (45 - 23) = 78$$

$$x + \underline{\hspace{2cm}} = 78$$

$$x = \underline{\hspace{2cm}} \quad \underline{\hspace{2cm}}$$

$$x = \underline{\hspace{2cm}}$$

Перевірка:

$$\underline{\hspace{2cm}} + (45 - 23) = \underline{\hspace{2cm}}$$

$$\underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

Відповідь:

$$x = \underline{\hspace{2cm}}$$